BEHY by — SRS

RBIn X

BR4ER : 20224 8A 28H BEAE © BHDCP HOCPE 3 999.9 #: 999.9 [BL#-M
THHE HDCPF BB: -99.9 %&: -99.9

B B SEES ® & GROSS | HDCP | NET |orossimi| [IE 4 |BERE# % | | | GROSS | HDGP | NET |cRossiat:]
B B RE 43 41 84| 13.0] 71.0 2

EEE |BR B 40| 40 80| 9.0 71.0 1

SR - 42| 43 85| 13.0 72.0 4

4 Iy} 44| 42 86| 10.0] 76.0 8

5L KInE  FH 421 43 8b| 9.0 76.0 4

6L | Ffd 43| 42 85 7.0, 78.0 4

)L EEA B 43| 45 88! 10.0] 78.0 10

By | wE 41| 49 90| 12.0j 78.0{ 15

9fiz BR B 46| 39 86 6.0] 79.0 4

10f7  |§® ¥ 47| 42 89, 10.0] 79.0| 12

1, [F#mE # 441 40 84 5.0 79.0 2

1207 | Lk ¥ 4b| 43 88 7.0 81.0 10

13 M % 45| 45 901 9.0] 81.0 15

1467 Rk 8L 45| 46 911 10.0] 81.0 17

15 & 5 44| 45 89| 7.0] 82.0 12

1607 |8 1% 54| 42 96| 13.0] 83.0 20

17 | REE R 43, 43 86| 3.0 83.0 8

18 (R ¥R 46| 48 94| 11.0] 83.0 19

196 |# EE 47| 49 96/ 13.0| 83.0 20

2060 |mE B 47| 42 89| 5.0] 84.0 12

217 | R EERX 47| 45 92| 7.0] 85.0 18

220 |FE E 46| 50 96| 11.0] 85.0 20

237 |RH % b0 | 47 971 7.0] 90.0 23

24fif |t ¥ 50| 56 106] 12.0] 94.0] 24




BEth b —EMRED

HBIHE R

R . 202245 8A 28R BEAE © BHDCP HDGPL S: 999.9 %: 999.9 [&L#-b:
FTEHIIR HDCPT B: -099.9 #r: -99.9

B (mEEs F L GRoss | HDCP | NET erossii| [IE £ |BREZ X & GROSS | HDCP NET | GROSSIR{Z
& B |we e 39 42 81| 14.0| 67.0 1) [s0hr sl de— 51| b3 104| 14.0| 90.0| 22
YRR P EX 52| 42 94| 25.0]| 69.0 8 I A®A B 61] 46 107 16.0| 91.0 26
L LT &F 43| 43 86| 14.0f 72.0 2|32 e e 58| 61 119, 27,0 92.0 31
A | EB BB 46| 42 88| 14.0 74.0 31336 A B 52| 67 119] 27.0| 92.0 31
5hr B9 A 47| 44 91| 16.0, 75.0 5|34 &7 = 62 b4 116| 21.0] 95.0 30
6L Fum  aL 48| 42 90| 14.0 76.0 4| 135z |hm 62 58 120] 23.0] 97.0 34
THe | B = 50| 44 94| 18.04 76.0/ 8

8t |BA Fk 49| 44 93 17.0] 76.0 6

ST AL 50| 48 98 22.0| 76.0| 12

100 | kB & 49| 54 103] 27.0] 76.0 19

17 |74 &iA 45! b1 96, 20.0| 76.0 10

1267 |%@E & 45 48 93| 16.0| 77.0 6

13 |@m & 50, 48 98] 20.0] 78.0 12

14067 | bE = 60, 47 107 27.0] 80.0 26

1607 [#EiE EA 49| 52 101 21.0] 80.0 16

1607 /NMiE & 49| 56 105 25.0| 80.0 23

176 Em &R 52| 45 97| 15.0| 82.0 11

18fL | Fiu@m A 49| 54 103| .21.0| 82.0 19

190 mEE %k 49| 52 101 18.0] 83.0| 16

200 (=K R 55| 59 114 30.0 84.0 29

ML |nEH mE 46| 52 98] 14.0 84.0] 12

220 @ mEE 54| 46 100| 14.0 86.0 15

23067 |/ME 53| b5 108] 21.0 87.0 28

240 R BT 53| 50 103! 15.0 88.0 19

250 | HEEE R— 47| bd 102] 14.0| 88.0 18

26(7  |#L E 59| 60 119 30.0 89.0 31

270 |70k ¥ 471 59 106/ 17.0/ 89.0 24

28( 5278 JEAER 61 59 120 30.0] 90.0 34

AL I 53| 53 106/ 16.0] 90.0 24




Bxhy b —HMHRELD

HBIF B

BRfER : 20224 8H 28A ik C BHDCP HDCPL %: 999.9 % 099.9 [BLA-M:

FTHHIR - HICPF B -99.9 #%: -99.9
B BEEER B | & GROSS | HDGP | NET |cRossieex| [ & |BEES 5 & GROSS | HDCP | NET [aRossif
A AE 44| 40 84| 13.0] 71.0 11] |30fr  |memp s 44 48 92| 11.0] 81.0 34
YEMERS | fh b 35| 38 73, 2.0 71.0 1) |31y =B %M bli 43 94| 12.0] 82.0 36
3L |iTiE 40| 37 77 2.0 75.0 ARE AT B 48| 40 88| 5.0 83.0 22
Mi |\ 41] 40 81 6.0 75.0 5| 33 |E%H Fw 45| 40 85 2.0] 83.0 15
5L | BY Fig 421 41 83| 8.0] 75.0 9| 340 |&H BmA b2| 44 96) 12.0] 84.0 39
SJATA AR BA 38| 43 8li 6.0 75.0 o| 350 |HTHE 3L 50| 44 94, 10.0 84.0 36
Thr  |EET R 42 37 79 3.0| 76.0 4| |36 |mH s 46| 50 96| 11.0 85.0 39
8fif  |FlF > 44| 41 85| 9.0] 76.0 15| |374r  |5sE BE= 41| 45 86| 0.0 86.0 18
o |MEE #H— 44| 42 86| 10.0| 76.0 18 [38fi  |mm & 43| 45 88 1.0 87.0 22
10 | BB 50A 43| 40 83| 6.0] 77.0 9| |39hr  Ik# #og 46| 51 97, 10.0] 87.0 41
1AL (=28 #Ep 45| 42 87| 10.0] 77.0 21 |aofy B 5% 49| 48 97, 9.0 88.0 41
1267 g —% 421 43 85| 8.01 77.0 15 |41ff |mm # 44| 44 88 0.0] 88.0 22
1307 WA 3% 42| 47 89| 12.0] 77.0 26| 420 |tEm EmRS b2 | 43 95 6.0 89.0 38
402 B3 & 481 40 88| 10.0, 78.0 22| 430 m#n R= bl| 49 100, 11.0] 89.0 43
160 | B MR 38| 40 781 0.0 78.0 3 |44 kE #E— 51| 49 100 10.0| 90.0 43
1607 /g X 43| 41 84| 5.0 79.0 11] |45 @ 5= 48| 52 100] 10.0] 90.0 43
1760 3RA 88 47| 45 92| 13.0 79.0 34 I[N R KAE e 39| 36 75 11.0{ 64.0
18 (@MW TEH 41| 40 gl 2.0/ 79.0 5
1967 |mEm E— 44| 45 89| 10.0 79.0 26
20000 |Em fm— 45| 41 86 6.0 80.0 18
AU AR N 46| 44 90, 10.0 80.0| 31
220 |Em KB 421 42 84 4.0 80.0 11
23 |E# 40 40| 44 84 4.0 80.0 11
240 |mim E— 42| 47 89 9.0 80.0| 26
25 |/ k= 49| 42 91| 10.0| 81.0] 32
260 |k &= 48| 43 91 10.0 8I1.0 32
270L | 3L 45| 44 89 8.0 8l1.0 26
28 |kt #B 41] 41 82 1.0/ 81.0 8
20 ¥l fT) 431 46 89 8.0 81.0 26




Eh by —SM{ERRA

HEI  F

BRfER : 2022%F B8R 288 $EhE © BHDCP HDCPE $: 999.9 #: 999.9 REL#:
FTHUHIER - HDCPTF 58: -99.0 %r: -99.9

IE 42 |$EER B GROSS | HDGP | NET |cRossiit| (B 42 BEEEA | # | | cRoss | HpoP | NET [cRossmt]
BB A 44| 52 96 30.0| 66.0 9

RS B kY 48 48 96| 29.0| 67.0 9

Mz MR B 46 41 87| 19.0] 68.0 1

AT @R f1—Ep 48] 42 90, 17.0 73.0 2

5L (W 1B 49| b4 103| 30.0 73.0 14

60 BB & h0| 42 92| 18.0 74.0 4

e |RR B 47| 43 90 16.0, 74.0 2

ST B B 54| 51 105| 30.0| 75.0 16

ofir  |me = 48| 45 93 17.0] 76.0 0

10fL | fBE 47| 48 95 19.0| 76.0 8

1147 |/ T 49| 44 93| 15.0| 78.0 5

1200 | KF Bz 48 45 93| 14.0] 79.0 5

1367 &8 SuE 51 55 106| 26.0| 80.0 17

G N 51 49 100] 17.0] 83.0 11

1500 A% 4§ 54| 50 104| 20.0| 84.0 15

166 | @% R 48| 52 100| 14.0| 86.0 11

ITRE |k i— b4| 47 101 14.0! 87.0 13

187 |fhE Al 56 53 109| 17.0: 92.0 18

197 | itz 54| 58 112] 20.0 92.0] 19

200 ) A 63| 58 121] 28.0 93.0/ 20




®th i b)) —ERMREED

HBI¥ 7

BAfER : 20225 8H 288 BEEE# C BHDCP HDOPL SB: 999.9 %&: 999.9 [BL#-:
THHIR : HOCPT B: 09.9 %&: -99.9
IE 4 |BHES EES | aRoss | HDGP | NET [orossimtt| B fr |mEES |7 |z | | GRoss | HpoP | NET [aRossimf]
B B RR s 44| 42 86, 13.0] 73.0 7
EMRPS R4 IEH 38| 37 75, 2.0 73.0 1
3L HH E 37| 39 76 3.0] 73.0 2
AN, |k = 431 42 85 10.0| 75,0 b
L kN TR 47| 43 - 90| 13.0] 77.0 14
6L kA T 47| 43 90| 12.0] 78.0, 14
7hi HA KT 44 44 88 9.0 79.0 9
8 LEF B 41, 42 83| 4.0 79.0 4
Ofr |48 o 42| 36 78| +2.0] 80.0 3
1067 |50 %iE 45| 43 88| 8.0/| 80.0 9
167 o & 44| 43 87| 7.01 80.0 8
126 |#h #H 45| 48 93! 12.0 81.0 18
137 |[#EiE B— 45| 40 8 -3.0 82.0 b
1407 |8k B 44| 48 92 10.0] 82.0 17
1567 |5 EB 42| 47 89 7.0 82.0 11
1660 [/NE Hi— 44| 50 94| 12.0| 82.0 19
1767  |mHE  FnsE 451 44 89 6.0 83.0 11
18 |&sk  HAsA 45 44 89| 6.0 83.0 11
19 [#B] HE 49 47 96/ 12.0] 84.0 21
200 |ERE W 48 49 97| 13.0! 84.0 23
2IiL ko #h 51 46 97 12.0| 85.0 23
22(f #4381 MER 46 49 95/ 10.0| 85.0 20
23f  [JLE  3LER 48| 43 91 5.0] 86.0 16
2407 |#3E #E 47 50 971 10.0| 87.0 23
250 HEEAR HE— 49 47 96/ 8.0 88.0 21
2600 |FM gt+B 48| 51 99| 10.0] 89.0 26
2767 ||iT EfE 59| 48 107 11.0] 96.0 27
ootk | iR R 40] 41 81 4.0 77.0




Bthy U —EMRESR

H B

i

BA#ER : 20224 B8AH 28H BiEAE © HHDCP HDCPE $: 999.9 %: 999.9 8 Lk-I:
ITHGIR - HOCPF B: -99.6 %&: -99.9

B 1 |shEs IS GROSS | HDCP | NET |cRossiEi| I ¢ |BES SIE S GROSS | HDGP | NET |GROSSIRf:
B BlAm x= 46| 46 92| 21.0 71.0 2| 3062 B = b2| 54 106{ 15.0] 91.0, 25
YRR hE 46| 47 931 22.0 71.0 3| 310 |sie BE bb| bb 110 16.0] 94.0 31
3hL |EL Bos 48| 45 93 21.0] 72.0 3| 320 |#r 54| 56 110 16.0| 94.0 31
A7 Nk Ex 45| 44 89 16.0] 73.0 1| 336y  |mFm o 57| b4 111 15.0] 96.0 33
AR 46, 47 93 18.0] 75.0 3| [34fL  |%IF 3L 56| 62 118] 20.0| 98.0 34
6L |kadL A 49| 47 96, 20.0| 76.0 7

™ |E 15T 47 b4 101| 24.0| 77.0 16

8. B =¥ 48 47 95| _17.0| 78.0 6

ot | AH % 48, 48 96/ 18.0| 78.0 7

107 |3HR T 48| 49 97| 18.0] 79.0 10

117 EE B 551 49 104| 24.0| 80.0 23

126 | BF & 52| 51 103| 23.0] 80.0 22

130wl EF 49| 51 100] 20.0| 80.0 15

4L (BEN 8E 49| 53 102] 22.0] 80.0 19

1507 |8 K b2| 44 96, 14.0; 82.0 7

1607 |EE8 F3 b2| 50 102 19.0 83.0 19

1760 | Bk WK 51| 50 101| 18.0 83.0| 16

IS |WE  #ik 48| 51 99| 16.0 83.0 12

196 |HEE B 53| 45 98| 14.0 84.0 11

20iL ik = 51| 50 101 17.0 84.0 16

2160 |0 E 49| 50 99| 15.0 84.0 12

220 | AE EE 59| 48 107| 22.0 85.0 29

2307 | EA 55| 47 102] 17.0 85.0 19

240 |%ME Pk 54i 51 105! 20.0 85.0. 24

2507 |RiE FE 50 49 99! 14.0 85.0 12

2607 |4 & 54 53 107, 21.0, 86.0 29

2T |ZAM 1% b2 b4 106 20.0 86.0 25

LI AL 7 = 4 48 b8 106/ 19.0 87.0 29

207 =M &—i b4 52 106/ 15.0] 91.0 25




